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E% 1:0ECD BERE{TIEHOHR

OECDR K 51TIEH (FHIFEH=100)
224088 224098 224108 224118 22%12F 234018 234027 23403FH #HAH (%)
G20 99.1 99.0 98.8 98.8 98.7 98.7 98.7 98.7 A 0.01
G7 98.9 98.7 98.5 98.4 98.4 98.4 98.3 98.3 A 0.01
T ERR N AN E 98.0 97.7 97.5 97.4 97.5 97.5 97.6 97.6 0.07
TEFOTSHE 99.3 99.2 99.1 99.0 98.9 98.9 98.9 98.9 0.01
KE 99.1 98.9 98.8 98.7 98.6 98.6 98.5 98.5 A 0.06
HF+5 98.7 98.3 97.9 97.7 97.5 97.4 97.2 97.2 A 0.10
T332 99.9 99.7 99.6 99.3 99.1 98.9 98.8 98.7 A 0.07
AX o 100.3 100.0 99.9 99.9 99.9 100.0 100.0 100.0 0.01
NIV 99.1 98.8 98.6 98.5 98.5 98.6 98.7 98.9 0.15
IS5UR 98.7 98.5 98.4 98.2 98.1 97.9 97.8 97.7 A 0.13
L4BYTF 97.6 97.3 97.1 97.0 97.1 97.2 97.4 97.5 0.14
RARLY 97.8 97.7 97.8 97.9 98.0 98.2 98.3 98.3 0.02
#EE 95.7 95.5 95.4 95.4 95.6 95.7 95.8 95.9 0.08
ZEN 100.4 100.3 100.2 100.1 100.0 100.0 99.9 99.9 A 0.01
A—ZFSYTF 99.4 99.2 99.0 98.8 98.7 98.6 98.5 98.5 A 0.01
thE 98.7 98.7 98.7 98.7 98.7 98.8 98.9 99.0 0.10
BE 99.5 99.3 99.0 98.7 98.5 98.3 98.2 98.1 A 0.08
PN 100.1 100.0 99.8 99.6 99.5 99.3 99.1 99.0 A 0.17
LY RELT 98.3 98.0 97.7 97.4 97.2 97.0 96.8 96.7 A 0.11
M7 IYH 100.6 100.5 100.4 100.3 100.2 100.1 100.0 99.9 A 0.10
kLo 99.8 99.7 99.6 99.6 99.5 99.5 99.5 99.5 A 0.00
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